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• Low barrier diode for detectors up to GHz

   frequencies

1 VES05991

2

(6': (lectroVtatic Gischarge sensitive device, observe handling precaution!

7\SH 0DUNLQJ 3LQ�&RQILJXUDWLRQ 3DFNDJH

BAT 62-02W 2 1 = C 2 = A SCD-80

0D[LPXP�5DWLQJV

3DUDPHWHU 6\PERO 9DOXH 8QLW

Diode reverse voltage VR 40 V

Forward current IF 40 mA

Junction temperature Tj 150 °C

Storage temperature Tstg -55 ... 150

7KHUPDO�5HVLVWDQFH

Junction - ambient     1) RthJA ≤ 650 K/W

Junction - soldering point     RthJS ≤ 810

1) Package mounted on epoxy pcb 15mm x 16.7mm x 0.7mm

查询BAT 62-02W供应商

http://www.dzsc.com
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(OHFWULFDO�&KDUDFWHULVWLFV at 7A = 25°C, unless otherwise specified.

3DUDPHWHU 6\PERO 9DOXHV 8QLW

PLQ� W\S� PD[�

'&�FKDUDFWHULVWLFV

Reverse current 

VR = 40 V

IR - - 10 µA

Forward voltage 

IF = 2 mA

VF - 0.58 1 V

$&�FKDUDFWHULVWLFV

0.35 0.6Diode capacitance 

VR = 1 V, f = 1 MHz

-CT pF

0.09Case capacitance 

f = 1 MHz

-CC -

225 -Differential resistance 

VR = 0 , f = 10 kHz

-R0 kΩ

Series inductance 0.6Ls - nH-
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Forward current IF = f (TA*;TS) 

* Package mounted on epoxy 
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Permissible Pulse Load RthJS = f(tp) 
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IFmax / IFDC = f(tp)  
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Forward current IF = f (VF) 

TA = parameter 
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Leakage current IR = f (VR) 

TA = Parameter 
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Diode capacitance CT = f (VR) 

f = 1MHz 
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5HFWLILHU�YROWDJH 9out = I (9in)

I = 900 MHz

5L = parameter in kΩ
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